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EXERCISE # 1

Q.1 Which of the line segments are congruent ?

Measure and state. ) ) .
Q.3 Pair each given figure with a congruent figure

O | bs
(3) F A
Vs a

@ o CYAAN F
(©) A I_Fd

(vii) (viii) ]

from the collection at the right.

(1>|

(1) (ii) (iif)

[ ]
[ )

®)

Q.2 Measure each of the angles given below and

write which three pairs are congruent :

Q4 Which of the following pairs of figures are
/ congruent ?
() (i) (i) :| |: |:| ]

(i)

(iv) V) (vi)
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Q.5

Q.6

Q.7

(iii) (iv)
I I ]
— —

o
3

Two congruent line segments are given. If the

(vii)

length of one segment is 6 cm, find the length

of other segment.

If ZABC = ZPQR and ZABC = 60°, then
find the magnitude of ZPQR.

Fill in the blanks :
(1) If two line segments are congruent, they
are equalin ......

(i) If two angles are congruent, they are

Q.9

Q.10

Q.11

32cm

(v) If two squares are congruent, they are
equalin ........
(vi) If two circles are congruent, they are

equalin ......

If AABC = AXYZ, write the parts of AXYZ
that correspond to :

(i) /B
(iii) £C

(i) YZ
(iv) AC
When APQR= AABC under the correspondence

APQR <> AABC, write all the corresponding
congruent parts of the triangles.

In the following pairs of triangles, state which
are congruent by applying SSS condition :
A P

1.5cm 2 cm 1.5cm 2 cm

B 28em C Q 28cm R

3.4 cm

2 cm

D 3 cm C
(iii)

In figure, AD = DC and AB = BC.

(i) IsAABD=ACBD?

(i1) State the three pairs of matching parts
you have used to answer (i).
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Q.12

Q.13

Q.14

D
A< C
B

AABC is isosceles with AB = AC. State if
AABC = AACB. If yes, state three relations
that you have used to arrive at your answer

/A\
B C
In figure, AB =DC and AD = BC.

(i) IsAABC=ACDA?
(i) What congruence condition have you

figure.

used ?
(ii1) You have used some fact, not given in
the question. What is that ?

A B
D C
In figure, AABC is isosceles with AB = AC.
D is the mid-point of base BC.
(i) IsAADB =AADC?

(i1) State the three pairs of matching parts
that you have used to arrive at answer (i).

/AN
B D C

Q.15

Q.16

Q.17

In the following figure, a pair of triangles is
given. Apply SSS condition to verify their

congruence.

D 6 cm C

7 cm

3cm 3cm

A 6 cm B

In AABC and ADEF, AB = DF and BC = EF.
What additional information is required to
make the two triangles congruent by SSS
congruence condition ?

B D E
2 cm
2 cm
A C F

In the following pairs of triangles by applying
SSS condition, state which are congruent?
State the result in symbolic form.

A

D 5 cm C

9.2 cm 92 cm

3cm

Q.18

5 cm B C
3cmB3 cm

Verify the SAS congruence condition in the
following pairs of triangles

C D
4 cm 4 cm,
50° 50°
A 5cm B E 5cm F

(@)
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(i)

Q.19 Show that in an isosceles triangle, angles
opposite to equal sides are equal.

Q.20 In a AABC, ZA = 100° and AB = AC. Find
/B and £C.

Q.21 In figure, AB=AD and Z/BAC = ZDAC.
(1) State if the two triangles are congruent.
(i) State the congruence condition.
(ii1) Complete the following :

ZABC=......
ZACD=.......
A

B C D

Q.22  In the following pair of triangles the measures
of some parts are indicated. Use SAS
condition to prove their congruence figure.

C D

70° 70°

3.2cm 3 cm 3.2 cm

3cm

A B E F

Q.23  In figure, AB || DC and AB =DC
(1) Is ZBAC = «ZDCA? Why ?
(i) Is AABC = ACDA by SAS congruence

condition ?

Q.24

Q.25

Q.26

(iii) State the three facts you have used to
answer (ii).
A D

B C

Which of the following pairs of triangles are

congruent :

(1) AABC, AB=10cm, ZA =40°, /B =55°,
AEFB, EF =10 cm, ZE =40°, /F = 55°,

(i) APQR, PQ =5 cm, £LP =37°, ZR = 64°,
AEFG, EF =5 cm, ZE =37°, LF = 64°.

In figure, AD bisects ZA and AD | BC.

(i) Is AADB = AADC by ASA congruence
condition ?

(i1) If yes, state the three facts you have used
to answer (i).

(iii) Is BD = DC ? Why ?

A

B D C

In figure, which pairs of triangles are
congruent by ASA congruence condition? If
congruent, write the congruence of the two

triangles in symbolic form.

A 48cm C D
50° 70°
AN70° 50°/\
B E 48cm F
Q)
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Q.27

Q.28

(iii)

In figure, AX bisects /BAC and ZBDC.
Find the third pair of corresponding parts to
that AABD = AACD by ASA

congruence condition.

ensure

/ﬁ/}i\\\?\\
A\/D b
B

In the following pairs of triangles, verify the
RHS congruence condition :
C

3 cm

4 cm
cm C 4 cm

>0

Q.29

2
2cm  E
3cm

B
LM\
D A D B

If AABC is an isosceles triangle such that
AB = AC then prove that altitude AD from A
on BC bisects BC.

Q.30

Q.31

Q.32

B D C

In figure, BD and CE are altitudes of AABC
and BD = CE.

(i) IsABCD=ACBE?

(i1) State the three pairs of matching parts

you have used to answer (i).
A

B C

In figure, AC = BD and DA 1 AB and also
CB 1 AB. State which of the following
statements are true :
(i) AABC =z AABD

(iii) AABC =z ABAD
State the pairs of matching parts you have

(ii) AABC = AADB

used to arrive at the answer.
Now, is it true that AD = BC ?
D C

A B

In the following pair of right triangles figure,
the measures of some parts are given. Verify
if the two triangles are congruent by RHS
congruence condition.
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3cm B

A 3cm

5 cm
D C

Q.34 In figure, PL L OB and PM L OA such that

Q.33 Infigure, AB=AD, AD 1 CD and AB L BC. PL = PM. Is APLO = APMO ?

(1) Find the third pair of corresponding part

B
so that AABC = AADC by RHS
congruence condition. .
(ii) Is BC =DC ? Why? L
P
O A

ANSWER KEY

1. (i) = (vii) ; (ii) = (vi) ; (iii) = (v) ; (1v) = (viii)

2. (1) = (v) ; (i1) = (vi) ; (1i1) = (iv)

3. Me, @Of G)b, 4], (5) g 6)e, (7)d,(8)h

4. (1), (iv), (v)

5.6 cm

6. 60°

7. (i) length, (ii) magnitude, (iii) they are equal in length, (iv) £P = £Q, (v) sides, (vi) radii
8. (i) £Y, (ii) BC, (iii) ZZ, (iv) XZ

9. /P=/A; Z/Q=/B; /ZR=/ZC;PQ=AB;QR=BC;PR=AC

10. (i), (iii)

11. (i) Yes, (ii) AD = CD, AB = CB and BD = BD

12. Yes; AB=AC,AC=AB,BC=CB

13. (i) Yes, (i) AB = CD, BC = DA, SSS congruency, (iii) AC = CA

14. (i) Yes, (ii)) AD = AD, AB=AC, DB=DC

16. AC=DE

17. (i) AABC = ACDA, (ii)) AABC = AABD

20. 40°, 40°

21. (i) Yes, AABC = AADC, (ii) SAS congruence condition , (iii) ZADB, ZACB
23. (i) Yes, Alternate angles, (ii) Yes, (iii) AB = CD, AC = CA, ZBAC = ZCDA
24. (i) AABC = AEFG

25. (i) Yes, (ii)) ZADB = ZADC (= 90°), AD = AD, /BAD = ZCAD, (iii) Yes, BD = DC (CPCT)
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26. (i) AACB = AFED
27. AD=AD

30. (i) Yes, (ii) £BDC = ZCEB (= 90°), BC = CB, BD = CE

31. (iii) ZABC = ZBAD, AC=BD, AB =BA, Yes, AD = BC (CPCT)

32. Yes

33. (i) AC is common, (ii) Yes, BC = DC (CPCT)

34. Yes

EXERCISE # 2

True/False type Questions (Q. 1 to 10)

Fill in the blanks type Questions(Q. 11 to 25)

Q.1

Two line segments are congruent if they have
same length.

Q.2 Two squares are congruent if they have same
corresponding angles.

Q3 Two circles are congruent if they have any
radius.

Q4 Three sides and three angles are the six
matching parts for the congruence of
triangles.

Q.5 AAA is one of the cases for proving triangles
congruent.

Q.6 SAS is one of the cases for proving triangles
congruent.

Q.7 SSA is one of the cases for proving triangles
congruent.

Q.8 If ADEF = ABCA, then EF = CA.

Q.9 If ADEF = ABCA, then Z/F is equal to ZA.

Q.10 If APQR = AABC, then their corresponding

angles are equal.

Q.11

Two line segments AB and CD are of equal
length of 10 cm, M and N are mid points of
AB and CD respectively. Is AM = CN? .

Q.12 Two circles have equal areas. Are these
circles congruent? ——.

Q.13  Area of two congruent square is equal. Is it
true?

Q.14 AABC =z AXYZ. If ZXYZ = 65°, the measure
of ZABC is .

Q.15 If all the corresponding angles of two
triangles are equal, are these two triangles
congruent? ——.

Q.16 A triangle PQR has each angle of 60°.
Another triangle DEF also each angle of 60°.
Is APQR = ADEF? ——.

Q.17 AABC = ADEF. If ZB = 50°, ZC = 70°, find
the measure of /D ——.

Q.18 APQR=AXYZ and PR=7cm, find XZ——.

Q.19 In AABC and APQR, AB = PQ, /B = ZQ

and AC=PR. Is AABC =z APQR? ——.
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Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

If the two sides and an angle of one triangle
are respectively equal to two sides and an
angle of the other, are the triangles

congruent?

Between two congruent line segments, one
has a measure of 7 cm, the measure of the
other segment is

Two circles C; and C, are if their radii

are equal.

If mZA = m/B, we can also mean for it

Two figures are said to be congruent if they

have and

sides and angles are the six
matching parts for the congruence of

triangles.

State the correspondence between the
vertices, sides and angles of the following
pairs of congruent triangles :

(1) AXYZ=APQR

(i) ANPM = ARQS

Given that AABC =ARPQ, ZA = 50°,
ZB=60°, find £ZP, ZQ, ZR.

In an isosceles AABC, AB=AC, D and E are
two points on the sides AB and AC
respectively such that AD = AE. Prove that
AABE = AACD.

In the figure given below, PQ = PS and
QR =RS. Find the third pair of corresponding
parts that makes APQR = APSR by SSS

congruence condition.
P

Given below are pairs of congruent triangles.
State the property of congruence and name
the congruent triangles in each case.

A P Q
R
B C 0
P A
Q R B ” C
(ii)
A X ) Y
B T C oGy £
P
S
on

Q)80 | 80°(>s
0°[50°

R
(iv)
In the figure below, are the two triangles
congruent? If yes, mention the congruence of
the two triangles in symbolic form.

In the figure, PQ || SR and PQ = SR
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Q.33

Q.34

Q.35

Q.36

P S
0 Y
Q R
(1) Is ZQPR = ZSRP? Why ?
(i) Is APQR = ARSP? If yes write

congruence condition.

In the given figure, AC L AB, DB 1 AB and
AC =DB. Prove that

.
A

C
(i) AOAC = AOBD, write the congruency

condition.
(ii) Is OA = OB? Why ?

Prove that in an isosceles triangle, the angles
opposite to equal sides are equal.

In figure given below, PQ = PR and QS = SR.
Prove that APSQ = APSR and hence show
that ZQPS = ZRPS.

P

Q S R

In the
ED =DF, BD = DC, DE 1 AB and DF 1 AC.
Prove that AE = AF.

figure, it is given that

Q.37

Q.38

Q.39

Q.40

Prove that the bisector of the vertical angle of
an isosceles triangles bisects the base at right

angles.

In the adjacent figure, C is mid point of AB,
Z/BAD = ZABE.
E D

A —¢ B
Prove that

(i) ADAC=AEBC (ii) DA=EB

In the adjoining figure, AD = AE, D and E
are points on BC such that BD = EC.
Prove that AB = AC.

A

B C
D E
In figure, the line segment joining the mid
points M and N of opposite sides AB and DC
of quadrilateral ABCD is perpendicular to
both sides. Prove that the other two sides of

the quadrilateral are equal.
A M B
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ANSWER KEY

1. T 2.F 3.F 4. T 5.F 6. T 7.F
8. T 9. F 10. T 11. Yes 12. Yes 13. Yes 14. 65°
15. No 16. No 17. 60° 18. 7cm 19. Yes 20. No 21. 7 cm

22. Congruent 23. ZA=/B 24.Same Shape, Same Size 25.3,3

26. () X P, Y Q,ZR, XY =PQ, YZ=QR, XZ = PR, /X=/P, /Y =/Q, /7= /R
()N R, P<Q,M«<S, NP = RQ, PM = QS, NM = RS, /N = /R, /P=/Q, /M= /S

27. ZR=50°, ZP =60°, £Q="70° 29. PR =PR (common)

30. (i) RHS, AABC = ARQP ; (ii) SAS, AQPR = AABC ; (iii) SSS, AABC = AZYX ; (iv) ASA; APQR = APSR

31. Yes, by SAS, APOQ = ASOR 32. (i) Yes, alternate angles, (ii) Yes, by SAS

33. (i) Yes, by ASA, (ii) Yes, corresponding parts of congruent triangles
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